
   
 
 
 
Your Source for Healthcare and 
Wellness Infotainment™ 

MODEL NUMBER: 
PD133-712,PD133-713, PD133-714 

Document Number: 
PD196-284R1 

ELED Table Stand Installation Instructions 
Page 1 of 2 

 

PDi Communication Systems, Inc.   40 Greenwood Lane   Springboro, Ohio 45066 USA   PH 1-800-628-9870  FX 937-743-5664   

SCOPE: 
To install a PDi table stand to an ELED TV.  (Your product may vary slightly in appearance from item shown) 
 
PARTS LIST: 
 
ITEM QTY PART NUMBER DESCRIPTION 

1 1 PD133-712 
PD133-713 
PD133-714 

29” STAND FOR LED TV 
32” STAND FOR LED TV 
42” STAND FOR LED TV 

2 4 M4 X 10MM M4X10MM PHILLIPS HEAD MACHINE SCREWS 
3 4 M4 X 12MM M4 X 12MM SHEET METAL SCREWS 

 
TOOL LIST: 

1. Safety glasses/goggles 
2. Drill and bit for screw. 

 
SAFETY STEPS: 

1. Always wear safety glasses/goggles to prevent injury from debris. 
2. Follow the installation/removal instructions for your existing products. 
3. Only place TV on stable flat surface when using the stand. 

 
PROCEDURE 
 

1. Remove table stand and screws from box and protective sleeve. 
2. Remove protective cover from stand base.  
3. Place stem of stand to the base, making sure that the side attaching to the TV is facing the 

deepest part of the stand. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4. Insert all 4 screws (M4 X 12mm) into bottom of 
plate to secure stem.   
Tighten screws with drill until secure, being 
careful not to strip screws. 

 
 
 
  



   
 
 
 
Your Source for Healthcare and 
Wellness Infotainment™ 

MODEL NUMBER: 
PD133-712,PD133-713, PD133-714 

Document Number: 
PD196-284R1 

ELED Table Stand Installation Instructions 
Page 2 of 2 

 

PDi Communication Systems, Inc.   40 Greenwood Lane   Springboro, Ohio 45066 USA   PH 1-800-628-9870  FX 937-743-5664   

5. Lay TV face down on flat, stable, non scratch surface.  Do not lay TV on anything smaller than 
the bezel of the TV.     

6. Insert stem of stand into back of TV making sure 2 tabs (shown) are secure in their proper place. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

6.   Secure with (4) M4 x 10 machine screws as shown. 
 


